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- 6. Whatis the value of 40(? - 3pug that 10 Damien played golf on each of the four
iasﬁsaﬁ.\a N-Qhﬂ v=~landw=4 " L days o_a..—ﬂn vacation, :.M scores on the

> ® -84 first three days were 93, 92, and 89, and
his average for the four days was 90,

Time: 60 minutes for 60 questions § (G) -92 What was his score on the fourth day?

Directions: Each question has five answer choices. Choose the best answer for each question, and | (H) -98 ) 84

then shade In the corresponding oval on your answer sheet, l o -104 ©) 85

e R e ® -112 @) 86

‘1. Ata convenlence store, two candy bars and ‘4 Inthe following figure, If the perimeter of .. Annette took 10 minutes to walk around a 87
ntegomvoﬁnoo%g:bo.g the square Is B.S_E_W»_—ow:&o:ro . ggas_wnaa_n.._.__n_m:ngo:ru field is X) 88

three candy bars and two bags of potato
chips cost $4.75. What is the price of one
bag of potato chips? y

shaded region?

4 times its width. How long would it take
Annette to walk the width of the field?

11,

Which of the following Inequalities Is

@) 5050 ™ 1 minute equivalent to 7-3p2 37
® $0.75 (®) 2 minutes ®p23
s ) (C) 3 minutes
forw () 4 minutes ®ps}
®) $1.25 (E) 5 minutes
® $1.50 ‘ ©p2-4
2 Which of th foll he 8. i_._..:«._..:_ovnoqga::iaga 3
¢ following is the greatest followin, h? -
common factor of 60 and 647 e O p2-3
@2 J ® BMIW
©)4 0.6) B
™6 = 12. In the following figure, line M and line ¥
® 10 are parallel. Which of the answer cholces
o i does NOT necessarily add up to 180~
® 10 3.0
M) 125 . ol s
[2:5 >.§g¢au9=§§-§333 TIonC
. -noo_on.ﬂ_aﬁg._r:g.sn @ 205
Broup recelves a bag of stones, When the ®) 25 dfe
teacher divides the stones evenly among o
?%&Q.Bﬁ.&iggg -5 k-ggﬂigg_ngvﬂ-?:& |
5953:.&3!33:58 a cholce among beef stroganoff, chicken
stones would each child have recelved? divan, and linguini primavera, If 25% chose ® 2
@ 15 gagign_ugag
chicken divan, how many people chose ©) -2 ) Las zbe 2f
®) 16 linguin! primavera? @um ©) 2a+ £d
G W7 M) £Lb+ Le+ st
Mw” w“ OF @) 2d+ ze
4 ZLe
®) 10 - ®-3 Nideysy
® 11 ._.foé_.ﬂo_an-zmnw:ﬁnn_!:g_?l_w_
onnw.iri_unroso—:.cuﬁ?ﬂu
@4
®7
©9
o) 13
® 17
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On an xy-graph, what is the length of a line
segment drawn from (=3, 7) to (6, ~5)?
@15

®) 16

17

)18

® 20

Which of the following is NOT a factor of
4y - 120 - 89"

@ 2

15, Of the 126 students who applied for a full

16.

scholarship at Oxbow College, 9 recetved
one. What is the ratio of students who
recelved a scholarship to those who didn't?

A 11010
® 1to11
©1to12
®) 11013
®) 1to14
In the following figure, each of the four

angles in the parallelogram is as shown.
What is the value of y?

A B

) 30
©)35
() 40
@ 45
®) 50

17.

18.

Tf2x~y =32 and 5x + 3y = 14, then xy =
) 35

®) 40

©7

©) 100

(®) -120

What is the value of a in terms b If

o5l

o byt

@25

o 22

&} mwm.u.

If p percent of 250 is 75, what Is 75% of p?
A 225

® 25

o5

@) 225

(E) 250

What is the slope of the line 9x -3y = 107
® 3

©-3
M9

21.
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In the following figure, Fis the midpoint of
GH. Which of the following are the coordi-

nates of F?
H=08)
E
a

*) (.4
® @5

o1
©(33)
®(23)

If 16 - 4nl > 1, which of the following must
be true?

SWAaAm
@lWA:AW
@I.MA:AW
()] :Am. o:.vm

S:Alm.o«:vm,

23,

In the following figure, sin 6=

N1

Wi
® 3

oF

o2

® N%
The formula for the volume of a sphere is

v uw.a.wu. and the formula for the surface

area of a sphere Is A = 4zr™. If a sphere has
a surface area of 36n, what Is Its volume?

) 2in
(G) 36n
(H) 54n
@ T
(X) 108z

‘25, What Is a possible value of x if

SZxi3-1=x7

(YR

® B

©5

o7

® AT

If m and n are both factors of 75, which of
the following could equal m + n:
® 12

©18

) 22

) 36

X) 54



(A) 25.25%
®) 27.25%
©) 27.5%
D) 39.9%
® 34%
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Nombor of bsiloons:
1 2 3 4 5 6 7
Price: $4.00 $450 3500 550 $5.00 $550 $7.00

Which of the following functions equals
the dollar cost of a balloon animal that
contains x balloons?

® R =x
G A)=x+4
MR =4x+05
O RX)=05x+4
®) R =05¢+35
20 What Is the sum of the two values of x that
satisfy the equation 4+ = 3x -1 .. 0?
(A) 0.75
®) 1.25
©25
®) -0.75
® -1.25

30,
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What Is the result when you add the matrix
|4 u_.oc.o:ﬁix_u -3 |and
3:.5@:83«;..3.5

® | 25|

©®1n 2|
|22 4|
|28 5]

®|54 30|
I the equation for the Jine shown In the

following graph _«wnm.k...u. what Is the
value of kn?

p'd

@9
®) 12
©15
D) 18
® 24

- Alfred and Rani both picked different two-

digit numbers. If you multiply Alfred’s

ber by 5 and doub\ Rani's ber,
the sum is 300, If you double Alfred’s
number and multiply Rani's number by 3,
the sum of the two numbers Is 252. What
is the sum of their two numbers?

“

© 112
) 128
O 144
® 150

(6o oo rer puge >

33. Whatis the equation for a line that Inter-

sects the origin and is perpendicular to
2x -4y =137

A y=-2
®) y=-2rx
©y=-2x
@wuwn

® ==}

'34. This semester, Gerry scored an average of

93 on his five history exams, He got the
same score on his first two exams, and
~7¢:ran3gwa.n=uu.n=anwcas~rn
remaining exams, What score did he
receive on his first two exams?

® 9%
() %
97
o 98
®) 99

.35 What w?«ﬁ?«&».:%-%

17
®) -17
© 29
®) 29

(E) Cannot be determined from the
information given.

3 A sclentist performs an experiment in

which she measures four values two times
each, with the following results;

s x y r
First 0.2 6 05 10
Mmeasurement
Second 06 3 1 30
measurement

Which of the following conclusions does
the expertment provide evidence for?

(F) wand y are directly proportional.
(G) wand z are Inversely proportional,
(H) xand y are inversely proportional,
) xand z are Inversely proportional.
&) yand z are directly proportional.

'37. Which of the following s the amplitude of the function shown In the following graph?

/:w-\. E -
-05+

) 0.5
®1
©r
@) 2
(E) 4n

o/



